A # B B =

%T

£ A = Sf 4 &£ 10 A 6 H FRI9EF305

At /P FLALETRIBAIT2ME 2012538

I 5 & 5 $-33

I = 4 FEHKESELI Sy TFEELSE

I %= 15 bR EMCILET B A

FE i & (Brid) 4,561,700 H AsswsiEs @i 4,147,000 A

B 1E HI IR ffi 4% (Bi3A) 4,125,000 H  AsEtesfms @Bk 3,750,000 M

BFREE(HA) 4,400,000 H Ha£%E (Hk) 4,000,000 M
*EA A W & wHE &

EHEMAR =X 4,000, 000[F+LirE

MARHTVIRZE 4,050, 000

PAERIEMRA S 4,100, 000

SEMEMRRU=EXE 4,100, 000

PRt S 4t SRR IR

BKXEHFABREHEXIE R

EFEAFLEEICI00DI0(CHHL T S8 ZME L -SRI 25 E#HHA L
DHAHCIRDHMEETH D




